%68 ERABAR:R TRk #HEER
(> £ & F)

I 9/29 9/30 10/1 10/2 10/1 9/30 9/29 I
B RE 1EE | 2EE | SEE [EaRB ERE | RM [ ERB EcRE| cER | 2EH | 1EH HERRE
D 1 HHEH KBREF 25 ®
Lt KERAF
L= — — p——  F ]

2 WOg sga | 27 oI - diEdE 26
2-1 2-0
EFEE —— VAN =
3 RER T I AR 27
2-1 2-1
T — —em
4 TERAT e — =E8 28
2-0 o _ 2-0 .
5 lifzE ————— T =58 EHE 29
2-0 2-0
BREE HEARE
6 JEE L»%LI' i:ﬁ%ﬂ Emﬁl;% .*LI_ 30
e 2-1 2-0 -
7 tEER EHE 31
KRR EHE
=] —_— | | el 1=}
8 BHMER sm | 20 20 | o m EEE 32
TP D ] 2 0 2-0 =8
9 KR o o EILE 33
10 BNE  — 20 20 LBRE 34
- EII8 L52 -
negse —1 7° | zqn sen | 20 SME 35
2-0 HEH 2-0
=] —— - B,E\
® 12 258 s=m | 2 | mzm RIFEE 36 Q
2-1 2-0
@ 13 IxBR IR 37
I 218 eI
= =] _ 7 18
14 FIFE mgm | 2 U — EHE 38
= 2-0 2-1 .
15 EER ————— Eam TEm BEE 39
. 2-0 2-0 . -

16 HER —— e AINE 40
17 HEE —] 7 | s FER BYE 41
2-0 2-0
H — = =]

18 KR EHR o FERE 42
19 EEE 20 1 ZEE 43
HEE BIEE
EH — — — E=]

20 HHEE pEn| 20 2 | e BIEE 44
2 wme — *° 2o WEE 45
m BHE HER -
S 2-1 2-0 we
22 FFLE —— P BLE =F8 46
23 EHE  — 0 | msa wEm | 2° RILE 47
2-0 2-0
@ 24 HiRE BERE 48 ©Q

& iz ik 7 8% (10/1,10/2)
5-8fi iR E 78R E B 5-6{i iR EH; 3-AfRTEE
BHIE
1~12 BHE
. . I BHIE BHE
KERAF FER RI58
- KR AF 2-0 o 2-0 o 2-0
25~36 S KERAF FER RI58
(=] —|
37~48 FTER] 20
[ —FIEfL)
OXRZE OBHEE QCORBE OEHER OXKRF OGOFME O+ERE OG®XRIIR

2013/10/2 14:24 IR




